
120 ÷ 15 = c 15 × c = 120 c = 8 

140 ÷ 7 = c 7 × c = 140 c = 20 

128 ÷ 32 = c 32 × c = 128 c = 4 

144 ÷ 6 = c 7 × c = 144 c = 24 

170 ÷ 5 = c 7 × c = 170 c = 34 

225 ÷ 9 = c 9 × c = 225 c = 25 

45 ÷ 3 = c 3 × c = 45 c = 15 

180 ÷ 12 = c 12 × c = 180 c = 15 

440 ÷ 40 = c 40 × c = 440 c = 11 



 

240 ÷ 12 = c 12 × c = 240 c = 20 

144 ÷ 16 = c 16 × c = 144 c = 9 

128 ÷ 8 = c 8 × c = 128 c = 16 

136 ÷ 7 = c 7 × c = 136 c = 18 

540 ÷ 6 = c 6 × c = 540 c = 90 

420 ÷ 5 = c 5 × c = 420 c = 84 

216 ÷ 4 = c 4 × c = 216 c = 54 

360 ÷ 3 = c 3 × c = 360 c = 120 

165 ÷ 11 = c 11 × c = 165 c = 15 



 
 

198 ÷ 9 = c 9 × c = 198 c = 22 

280 ÷ 8 = c 8 × c = 280 c = 35 


